
 

  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2018. 

Third Year 

Bank Management 

INCOME TAX 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. State any four deductions from gross total income. 

 ö©õzu Á¸©õÚzv¼¸¢x H÷uÝ® |õßS PÈÄPøÍ 

TÖP. 

2. What are the incomes that are chargeable to tax 

under the head income from other sources? 

 Cuμ ÁøP Á¸©õÚ® GßÓ uø»¨¤ß RÌÁ¸® 

Á›USm£mh Á¸©õÚ[PÒ ¯õøÁ? 

 UG–474 BBM-31 
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3. Compute annual value from the following : 

 Rent – Rs. 7,000 p.m. 

 Municipal rental value – Rs. 80,000 p.a. 

 Fair rental value – Rs. 70,000 p.a. 

 Standard rent – Rs. 69,000 p.a. 

 Rent not receivable for two months during the 
year. 

 RÌPshÁØÔ¼¸¢x Bsk ©v¨¤øÚU PnUQkP : 

 ÁõhøP – ¹. 7,000 ©õu® JßÔØS 

 |Pμõm] ÁõhøP ©v¨¦ ¹. 80,000 (Á¸h®) 

 ©õv› Ez÷u\ ÁõhøP ©v¨¦ ¹. 70,000 (Á¸h®) 

 uμ ÁõhøP ¹. 69,000 (Á¸h®) 

 A¢u Á¸hzvÀ Cμsk ©õu ÁõhøP 

ö£Ó¨£hÂÀø». 

4. Explain the concept income and give its features. 

 ‘‘Á¸©õÚ®’’ Gß£øu ÂÍUQ AuÝøh¯ 

C¯À¦PøÍ u¸P. 

5. Explain “Commuted Pension”. 

 ‘‘PnUQh¨£mh K´Åv¯®’’ – ÂÍUSP. 
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SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the powers exercised by any four income 
tax authorities. 

 H÷uÝ® |õßS Á¸©õÚ Á› Aø©¨¤ß 

AvPõμ[PøÍ ÂÍUSP. 

7. From the following information, find out the 
income under the head income from House 
property for the assessment year 2017–18. 

 Rs. 

Municipal valuation 1,90,000

Fair rent 1,85,000

Standard rent 1,70,000

Annual rent 2,16,000

Unrealised rent for the P.Y. 2016–17  
  (all conditions of rule 4 satisfied) 30,000

Unrealised rent for 2016–17 realised  
 during the P.Y. (2017–18) 28,000

Interest on borrowed capital (p.a.) 36,000

 The above cited property is let out for residence 
throughout the P.Y. 2016–17. Municipal tax is at 
the rate of 20%. 
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 RÌPsh Â£μ[PøÍU öPõsk Ãmk ö\õzx 

Á¸©õÚ® GßÓz uø»¨¤ß RÌ Á¸©õÚzøu 

©v¨¥mk 2017–18&US Psk¤iUPÄ®. 

 ¹. 

|Pμõm] ©v¨¦ 1,90,000

{»Ä® ÁõhøP 1,85,000

{μ¢uμ ÁõhøP 1,70,000

Bsk ÁõhøP 2,16,000

•¢øu¯ Bsk 2016–17 Á`»õPõu ÁõhøP 

(Âv 4&ß£i {£¢uøÚPÒ §ºzv 

ö\´¯¨£mkÒÍx) 30,000

2016–17&® BsiØPõÚ Á`»õPõu ÁõhøP 

•¢øu¯ Bsk 2017–18&À Á`¼zux 28,000

Phß •uÀ «x Ámi (BsiØS) 36,000

 ÷©÷» SÔ¨¤mkÒÍ Ãmka ö\õzx •¢øu¯ Bsk 

2016–17 •ÊÁx® ÁõhøPUS Âh¨£mhx. |Pμõm] 

Á› (ö\¾zv¯x) 20% C¸UQÓx. 

8. Explain the cannons of taxation. 

 Á›Âv¨¤ß öPõÒøPPøÍ ÂÍUSP. 

9. Explain the capital gains that are exempt from 
tax. 

 Á›Â»US ö£Ö® ‰»uÚ C»õ£[PÒ (Buõ¯®) £ØÔ 

ÂÍUSP. 
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10. The following is the Receipts and Payments 

Account of Mr. Y, a practicing Chartered 

Accountant for the year ended 31.3.06. 

Receipts Rs. 

Audit fees 50,000

Consultation 10,000

Appellate Tribunal Appearance 20,000

Miscellaneous 10,000

Interest on government securities 5,000

Rent received 6,000

Presents from clients 9,000

Office expenses 8,000

Office rent 7,000

Salaries and wages 14,000

Printing and stationery 1,600

Subscription to CA Institute 4,000

Purchase of books for professional purposes 1,600

Travelling expenses 6,000

Donation to National Defence Fund 5,000

 Compute his Professional Income. 
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 v¸. Y Gß£Á›ß 31 ©õºa 2006&® |õ÷Íõk 

•iÁøh²® ö£ÖuÀPÒ ©ØÖ® ö\¾zxuÀPÒ 

PnUS R÷Ç uμ¨£mkÒÍx : 

ö£ÖuÀPÒ ¹. 

uoUøPU Pmhn® 50,000

B÷»õ\øÚUPõP 10,000

÷©À•øÓ±k }v©ßÓzvÀ BáμõSu¾UPõP 20,000

£»ÁøP¨£mh Á¸©õÚ® 10,000

Aμ_ BÁnzvß «x Ámi 5,000

ÁõhøP ö£ØÓx 6,000

ÁõiUøP¯õÍ›hª¸¢x ö£ØÓ £›_PÒ 

ö\¾zxuÀPÒ 9,000

A¾Á»P ö\»ÄPÒ 8,000

A¾Á»P ÁõhøP 7,000

\®£Í® (©) T¼ 14,000

Aa_ (©) GÊxö£õ¸mPÒ 1,600

C.A. {ÖÁÚzvØS \¢uõ ö\¾zv¯x 4,000

öuõÈÀ ÷|õUPzvØPõP ¦zuP® Áõ[Q¯x 1,600

£¯na ö\»ÄPÒ 6,000

÷u]¯ £õxPõ¨¦ {vUS |ßöPõøhPÒ 5,000

 AÁ¸øh¯ öuõÈÀ Á¸©õÚzøu PõsP. 
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11. Mr. Palaniappan submits the following particulars 
of his income and loss for the assessment year 
2017–18 : 

 (a) Income from house property (computed)  
Rs. 23,000. 

 (b) Profit and gains of personal business  
Rs. 30,000. 

 (c) Share of profit from an AOP (AOP has  
paid tax at the maximum marginal rate)  
Rs. 15,000. 

 (d) Short term capital gain Rs. 13,000. 

 (e) Long term capital gain (Building) Rs. 22,000. 

 (f) Long term capital loss (Shares) Rs. 29,000. 

  The following items have been brought 
forward : 

  (i) Business from A.Y. 2015–16 Rs. 35,000. 

  (ii) Loss from house property A.Y. 2015–16 
Rs. 26,000. 

    Compute his gross total income. 

 v¸. £ÇÛ¯¨£ß AÁºPÒ uÚx Á¸©õÚ® ©ØÖ® 

|mhzøu ©v¨¥mk Bsk 2017–18 R÷Ç 

öPõkzxÒÍõº : 

 (A) Ãmk ö\õzx Á¸©õÚ® (PnUQh¨£mhx)  

¹. 23,000. 

 (B) ö\õ¢u öuõÈ¼À Á¢u C»õ£® ¹. 30,000. 
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 (C) Tmk {ÖÁÚzvhª¸¢x (AOP) Qøhzu 

C»õ£¨ £[S {ÖÁÚ® Ezu© Áμ®¦ ÃuzvÀ 

Á› ö\¾zv°¸UQÓx) ¹. 15,000. 

 (D) SÖQ¯ Põ» ‰»uÚ Buõ¯® ¹. 13,000. 

 (E) }sh Põ» ‰»uÚ Buõ¯® (Pmih®)  

¹. 22,000. 

 (F) }sh Põ» ‰»uÚ |mh® (£[SPÒ) ¹. 29,000. 

  RÌPshÁØøÓ •ß÷|õUQ Gkzx öPõsk 

Áμ¨£kQÓx : 

  (i) ÁoP |mh (©v¨¥mk Bsk 2015–16) 

¹. 35,000.  

  (ii) Ãmka ö\õzx |mh® (©v¨¥mk Bsk 

2015–16) ¹. 26,000. 

    ö©õzu Á¸©õÚzøu Psk¤i.  

12. Discuss briefly the provision of Income Tax Act 
regarding deductions U/S 80 to be made in 
computing the total income of assessee in respect 
of payments.  

 Á¸©õÚ Á›a \mhzvß RÌ Á› ö\¾zx£Á›ß 

Á›USm£mh Á¸©õÚzøu PnUQk® ÷£õx  

¤›Ä 80&ß RÌ ö©õzu Á¸©õÚzv¼¸¢x 

ö\¾zxuÀPÍõÚ PÈÄa \μzxUPøÍ _¸UP©õP 

ÂÁ›. 

——————— 



 

  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2018. 

Third Year 

Bank Management 

CUSTOMER RELATIONSHIP MANAGEMENT  

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Explain the need for communication. 

 uPÁÀ öuõhº¤ß AÁ]¯zøu ÂÍUSP. 

2. Define CRM. State its objectives.  

 CRM&Áøμ¯Ö. Auß ÷|õUP[PøÍU TÖP.  

3. Who is a customer of a bank? Whom cannot be 
called as a customer? 

 Á[Q°ß ÁõiUøP¯õÍº Gß£Áº ¯õº? Á[Q°ß 

ÁõiUøP¯õÍμõP ¯õøμ AøÇUP •i¯õx? 

 UG–477 BBM–34 
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4. What is customer day? State its purposes. 

 ÁõiUøP¯õÍº vÚ® GßÓõÀ GßÚ? Auß 

÷|õUP[PøÍU TÖP.  

5. List out the advantages of marketing research.  

 \¢øu°køP Bμõ´a]°ß |ßø©PøÍ¨ 

£mi¯¼kP.  

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What are the barriers to communication? 

 uPÁÀ öuõhº¦ •øÓ°À HØ£k® uøhPÒ ¯õøÁ? 

7. Explain the keys to better listening.  

 |ßS PÁÛzu¼ß Ai¨£øhPøÍ ÂÍUSP.  

8. Discuss the importance of customer relationship 
management.  

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß 

•UQ¯zxÁzøu ÂÁõvUP.  

9. Suggest the measures to retain and enlarge 
customer base.  

 ÁõiUøP¯õÍº AizuÍzøuz uUP øÁzxU 

öPõÒÁuØS® Â›Ä£kzxÁuØS® ÷uøÁ¯õÚ 

ÁÈ•øÓPøÍ¨ £›¢xøμ ö\´P.  
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10. What are the services of banking ombudsman? 

 Á[QU SøÓwº¨£õÍ›ß £oPÒ ¯õøÁ? 

11. Enumerate the factors influencing customer 
satisfaction. 

 ÁõiUøP¯õÍº v¸¨vø¯ {ºn°US® PõμoPÒ 

£ØÔ ÂÁ›UP.  

12. Explain the different channels of communication. 

 uPÁÀ öuõhº¦ •øÓ°ß £À÷ÁÖ ÁÈPøÍ 

ÂÍUSP. 

——––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2018. 

Third Year 

Bank Management 

TREASURY MANAGEMENT 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What is Asset Liability Management? Explain the 
scope of Asset Liability Management. 

 ö\õzxUPÒ ö£õÖ¨¦PÒ ÷©»õsø© GßÓõÀ GßÚ? 

ö\õzxUPÒ ö£õÖ¨¦PÒ ÷©»õsø©°ß Áμ®¦ 

GÀø» £ØÔ ÂÍUSP. 

2. List out the objectives of Treasury Management. 

 P¸Å» ÷©»õsø©°ß ÷|õUP[PøÍ¨ £mi¯¼kP. 

3. Explain: SLR and CRR. 

 SLR ©ØÖ® CRR £ØÔ ÂÍUSP. 

 UG–478 BBM – 35 
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4. Write a note one Call Money Market. 

 AøÇ¨¦ £na \¢øu £ØÔU SÔ¨¦ GÊxP. 

5. What do you mean by Foreign Currency Market. 

 AßÛ¯ £na \¢øu GßÓõÀ GßÚ? 

SECTION B —  (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the role and importance of Treasury 
Management. 

 P¸Å» ÷©»õsø©°ß £[øP²® 

•UQ¯zxÁzøu²® ÂÍUSP. 

7. Describe the various money market instruments. 

 £na \¢øu°ß £À÷ÁÖ P¸ÂPÒ £ØÔ ÂÍUSP. 

8. Examine the role of players of Domestic Money 
Market. 

 EÒ|õmk £na \¢øu°ß EÖ¨¤ÚºPÎß £[øP 

B´Ä ö\´P. 

9. What are the features of Domestic Money Market? 

 EÒ |õmk £na \¢øu°ß C¯À¦PÒ ¯õøÁ? 



 UG–478 3

10. Discuss the role of RBI in regulating foreign 
currency market. 

 AßÛ¯ |õn¯a \¢øuø¯ JÊ[S£kzxÁvÀ  

RBI – ß £[øP ÂÁõvUP. 

11. Explain the need for specilised approach with 
regard to profitable employment of surplus funds. 

 E£› {vø¯ C»õ£Pμ©õP •u½k ö\´ÁvÀ 

uÛzxÁ©õÚ AqS•øÓ°ß AÁ]¯zøu 

ÂÍUSP. 

12. List out the merits and demerits of Government 
securities. 

 Aμ_¨ £zvμ[PÎß |ßø© wø©PøÍ £mi¯¼kP. 

——––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2018. 

Third Year 

Bank Management 

COST ACCOUNTING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are the different types of cost? 

 AhUP Âø»°ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

2. Calculate the inventory turnover from the 
following : 

 Minimum stock level   2000 units 

 Maximum stock level   6000 units 

 Re-order quantity   3000 units  

 Issues     12000 units  

 UG–774 BBM–32 
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 SøÓ¢uÍÄ E£÷¯õP®  2000 A»SPÒ 

 Ea\ AÍÄ E£÷¯õP®   6000 A»SPÒ 

 ©Ö÷Pm¦ AÍÄ    3000 A»SPÒ 

 ÁÇ[RkPÒ   12000 A»SPÒ 

 \μUQ¸¨¦ _ÇØ] ÂQuzøu Psk¤iUPÄ®. 

3. Mention the different methods of classifying over 
heads. 

 ÷©Øö\»ÄPøÍ ÁøP¨£kzx® •øÓPøÍU TÖP. 

4. Give a list of main groups forming the functional 
classification overhead. 

 ÷©Øö\»ÄPøÍ C¯UPzvØ÷PØ£ Á›ø\¨£kzuø» 

Á›ø\¨£kzxP. 

5. What are the essentials of a good costing system? 

 J¸ |À» AhUPÂø» Po¨¦ •øÓ°ß 

CßÔ¯ø©¯õu A®\[PøÍ ÂÁ›. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. The components of A and B are used as follows : 

 Normal usage 50 units per weeks each 

 Minimum usage 25 units per weeks each 

 Maximum usage 75 units per weeks each 
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 Reorder quantity  A : 400 units 

     B : 600 units 

 Reorder period   A : 4 to 6 weeks 

     B : 2 to 4 weeks  

 Calculate :  

 (a) Reorder level  

 (b) Minimum stock level  

 (c) Maximum stock level  

 (d) Average stock level. 

 Cμsk ö£õ¸mPÒ A ÷©¾® B ¤ßÁ¸©õÖ 

£¯ß£kzu¨£kQßÓÚ. 

 \õuõμn E£÷¯õP®  Áõμ® JßÖUS 50 A»SPÒ 

JÆöÁõßÔØS® 

 SøÓ¢uÍÄ E£÷¯õP® Áõμ® JßÖUS 25 A»SPÒ  

    JÆöÁõßÔØS® 

 Ea\ AÍÄ E£÷¯õP® Áõμ® JßÖUS 75 A»SPÒ  

    JÆöÁõßÔØS®  

 ©Ö÷Pm¦ AÍÄ   A & 400 A»SPÒ 

     B – 600 A»SPÒ 

 ©Ö÷Pm¦ Põ»®  A – 4 •uÀ 6 Áõμ[PÒ 

    B – 2 •uÀ 4 Áõμ[PÒ 
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 PnUQkP : 

 (A)  ©Ö ÷Pm¦ AÍÄ  

 (B) SøÓ¢uÍÄ {ø» 

 (C) Ea\ AÍÄ {ø» 

 (D) \μõ\› C¸¨¦ {ø» 

7. Show the year end value of inventory under FIFO 
method. 

Period Received  Issued units
 Units  Rate (Rs)  

I Quarter  20,000 2.25 16,000 
II Quarter 30,000 2.50 20,000 
III Quarter 25,000 2.40 33,000 
IV Quarter 10,000 2.60 7,000 

 Assume that purchases were made on the first day 
of the quarter. 

 FIFO •øÓ°À CÖva \μUQß ©v¨¤øÚU PõsP. 

Põ»®  ö£ØÓx  ÁÇ[Q¯x

 A»SPÒ Âø» (¹.) A»SPÒ 

•uÀ Põ»õsk 20,000 2.25 16,000 

Cμshõ® Põ»õsk 30,000 2.50 20,000 

‰ßÓõ® Põ»õsk 25,000 2.40 33,000 

|õßPõ® Põ»õsk 10,000 2.60 7,000 

 öPõÒ•uÀ AøÚzx® Põ»õsiß xÁUPzvß •uÀ 

|õÎÀ ö\´¯¨£mhÚ. 



 

 UG–774 5

8. Bring out the differences between management 
accounting and cost accounting. 

 ÷©»õsø© PnUQ¯¾US® AhUPÂø» 

PnUQ¯¾US® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

9. Explain Bin card, Stores Ledger, Scrap. Give its 
accounting treatment. 

 öPõÒøP Amøh, \μUS¨ ÷£÷μk, PÈÄ xPÒPÒ – 

ÂÁ›. AuøÚ PnURk ö\´Áx GÆÁõÖ?  

10. Explain the advantages and disadvantages of inter 
process project? 

 £i•øÓ EØ£zv°À Cøh{ø» »õ£zvß |ßø© 

wø©PøÍ TÖP. 

11. From the following particulars, calculate  

 (a) Profit Volume Ratio  

 (b) B.E.P. 

 (c) Profit when sales volume is Rs. 2,00,000 

 (d) Sales required to get a profit of Rs. 30,000. 
Year Sales (Rs.) Profit (Rs.)

I 1,00,000 12,000 

II 1,40,000 22,000 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x  

 (A) C»õ£ AÍÄ ÂQu® 

 (B) C»õ£ |mh ©ØÓ {ø»¨¦ÒÎ 

 (C) ÂØ£øÚ ¹. 2,00,000 GÛÀ »õ£® 

 (D) ¹. 30,000 »õ£® ÷Áskö©ÛÀ ÷uøÁ¯õÚ 

ÂØ£øÚ BQ¯ÁØøÓ PnUQkP. 

Bsk  ÂØ£øÚ (¹.) C»õ£® 

I 1,00,000 12,000 

II 1,40,000 22,000 

12. Enumerate the important methods of 
reapportionment of service department cost. 

 £ozxøÓ ö\»ÄPøÍ «sk® £Qº¢uÎUP 

¤ß£ØÓ¨£k® •øÓPÒ ¯õøÁ? 

————— 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2018. 

Third Year 

Bank Management 

MARKETING OF BANKING SERVICES 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What is marketing? 

 \¢øu°køP GßÓõÀ GßÚ? 

2. What is environmental scanning? 

 `ÇÀ ~snõ´Ä GßÓõÀ GßÚ? 

3. Mention the stages in consumer’s buying process. 

 ~Pº÷Áõ›ß Áõ[SuÀ |øh•øÓ°ß £i{ø»PøÍU 

SÔ¨¤kP. 

4. List out the benefits of market segmentation. 

 \¢øu¨ £S¨£õ´Âß £»ßPøÍ¨ £mi¯¼kP. 

 UG–775 BBM–33
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5. Write a note on : 

 (a) Marketing research 

 (b) MIS. 

 SÔ¨¦ GÊxP. 

 (A) \¢øu°køP Bμõ´a] 

 (B) MIS.  

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What are the features of marketing of banking 
services? 

 Á[Qa ÷\øÁ \¢øu°ß C¯À¦PÒ ¯õøÁ? 

7. Discuss the impact of banking regulations on 
marketing strategies of banks. 

 Á[QPÎß \¢øu°køPz vmhzvß ÷©»õÚ Á[Q 

JÊ[S•øÓ°ß uõUPzøu¨ £ØÔ ÂÁõvUP. 

8. What are the factors affecting buying behaviour? 

 Áõ[S£Á›ß ÷£õUøP¨ £õvUS® PõμoPÒ ¯õøÁ? 

9. Explain the techniques of market segmentation 
for consumers and corporates. 

 ~Pº÷Áõ¸US® ©ØÖ® {Ö©[PÐUS©õÚ \¢øu¨ 

£S¨¤ß ~m£[PøÍ ÂÍUSP. 
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10. Explain the need for situation analysis. 

 `Ì{ø» B´Âß AÁ]¯zøu ÂÍUSP. 

11. Discuss the need for marketing of banking 
services. 

 Á[Qa ÷\øÁPøÍ \¢øu¨£kzu¼ß ÷uøÁ £ØÔ 

ÂÁõvUP. 

12. Examine the contributions of marketing research 
to banks. 

 \¢øu°køP Bμõ´a]°ß £[PÎ¨¦ Á[QPÐUS 

GÆÁõÖ £¯ß£kQÓx Gß£x £ØÔ B´Ä ö\´P. 

––––––––––––––– 


